Handout #7 Limiting Reactant 
Name ______________________________
1.
In a reaction chamber, 4.10 grams of Al is mixed with 7.3 g of Cl2 to form AlCl3.  

____________ a. What is the limiting reactant?

____________ b. What is the mass of product formed?

____________ c. What is the mass of the excess unreacted?

2.
84.0 g of copper reacts with 30.0 g of sulfur to form copper I sulfide.
____________ a. What is the limiting reactant?

____________ b. What is the mass of product formed?

____________ c. What is the mass of the excess unreacted?
3.
6.00 g of hydrochloric acid reacts with 5.00 g of magnesium metal.

____________ a. What is the limiting reactant?

____________ b. What is the mass of magnesium product formed?

____________ c. What is the mass of the excess unreacted?

4.
3.70 g of C2H4 reacts with 8.30 g of oxygen in a combustion reaction.

____________ a. What is the limiting reactant?

____________ b. What is the mass of carbon dioxide formed?

____________ c. What is the mass of the excess unreacted?
5.
46.8 g of C6H6 react with 48.0 g chlorine gas to produce C6H5Cl and hydrochloric acid.

____________ a. What is the limiting reactant?

____________ b. What is the mass of carbon product formed?

____________ c. What is the mass of the excess unreacted?

____________ d. If 38.8 g of C6H5Cl is produced in lab, what is the percent yield?

6.
If 112 g of CaO and 224 g of NH4Cl are mixed according to the equation below.
CaO   +   2 NH4Cl   →   2 NH3   +   H2O   +   CaCl2
____________ a. What is the limiting reactant?

____________ b. What is the mass of calcium chloride formed?

____________ c. What is the mass of the excess unreacted?

____________ d. If 16.3g of NH3 is produced in lab, what is the percent yield?

